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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PRI ey iy

fa) What is international trade?

@GR ey 9

fb) What is inter-regional trade?

ey qfey 39
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(2)

(c) Write one assumption of Ricardian
theory of comparative cost.

mewmwﬁwmﬁm

(d Mention one essential element of
Heckscher-Ohlin  theory of inter-
national trade.

(e) What is Leontief paradox?
frafowq e 2

() Define multinational enterprise.

e SrsE e |

(g) Mention one merit of free trade.

& T b1 AR Ty FA

(h) What is protectionism?
SETHRm & 2

() Define flexible exchange rate.

sifigde R 291 e fa

(i) What is foreign exchange market?
e Rt 3we 2
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2. Answer the following questions ¥

(3)

ST fral spprEe e fay

(a)

(b)

(c)

(@)

(e)
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Mention two differences between inter-
regional and international trade,

SRR S SRR e 751 s
1

Write two assumptions of Heckscher-
Ohlin theory of international trade,

What is international product cycle
theory?

SRS Sesim 53 werhy f o

Mention two causes for the downfall of
Bretton Woods system.

@i‘amﬁf@aw@rm‘lmw:

What is financial globalization.

R8N comer®read 3 o

( Turn Over )

2x5=10



(%)

3. Answer any four of the following questions :
5x4=20

@ 2pARA & G wifker Tes i

(a) What are the reasons for international
trade? Explain.

s afderd FRCIR & 2 T 40

(p) Discuss the importance of Ricardian
theory of comparative cost in developing
countries.

TR opre R GEEe T TGN
GFY A 9 |

(c) Briefly explain the localization theory of
international trade.

gEEfes AACET  TAFPI OO L
A 3 |

(d) Distinguish between free trade and
protection.

’Fzﬁwww«ﬂmaﬁwﬁmvﬁw
faefT 341 |

(e) Distinguish between fixed and flexible
exchange rate.

&3 = Ty R 299 o) e B |
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(5)

Distinguish between tariff barriers and
non-tariff barriers.

u% AT WF ST AT Ywe oy
efy a1

4. Answer any four of the following questions :

10x4=40

o 2@ R Qe vk T fi -

(@)

(b)

(c)
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Explain the Ricardian comparative cost
theory of international trade. 10

fRerf wrRAln AR e T e
ST 7 |

Discuss the superiority of Heckscher-
Ohlin theory over Ricardian theory of
international trade. Mention the
limitations of Heckscher-Ohlin theory.
5+5=10

ere wmEifts i cgete cmR-'fN
TGO el SIS [T IR-S R
TGOH SRwerR SrEy 9 |

State and explain the technological gap
model of international trade. 10

EEfee qfde R F e S
1 F 0 394 |
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(6)

(d) Critically discuss the product-cycle
theory of international trade. 10

wEEfses  qMEA B 5F  OFl
ARSI ST 41 |

(e) Compare the effectiveness of tariff
and quota as a weapon of trade
restrictions. 10

e Frgm =R ot ws o R
fafrae IRER FRFIRS To 4 |

() Analyze the effects of tariffs in a partial
equilibrium system. 10

R SR IS WA JSR [T 391 |

(g) How was equilibrium exchange rate
determined wunder gold standard?
Mention the reasons for the collapse of
the gold standard. 5+5=10

e s et R TR @ema
RS tafes? 369 IRER e IRPER
TeEy
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(h) Discuss the main reasons for the
international financial crisis. What are
the various effects of international
financial crisis? 5+5=10

W%WWWWW
T wwSifer R e Rfew ererone
R

* k%
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